T o e

7524 — 2543 =
3978 + 26 =
7+(4x3)=
_=163-73
1557 x 31 =
-7+13 =

Write 567 in Roman Numerals

2.7 X8 =
Find 10% of 450ml =
7%=

16354 — 8643 =
4628 + 26 =
81+ (7x4)=
___=736-354
2543 x 31 =
-23+45 =

Write 863 in Roman Numerals

2.7x9=
Find 70% of 450ml =
11%2 =

75344 — 7534 =
4862 + 26 =

153 +(9x7)—32 =
_ =1542-862
3541 x 31 =

82 +124 =

Write 1640 in Roman
Numerals =

2.7x12 =
Find 31% of 450ml =
142 =



oy | Gee | Gd

7524 — 2543 = 4981 16354 - 8643 =7711 75344 — 7534 = 67810

3978 +26 =153 4628 - 26 =178 4862 + 26 =187
7+(4x3)=19 81+ (7x4)=109 153 +(9x7)—32=184
90=163-73 382 =736—-354 680 = 1542 — 862

1557 x 31 = 48267 2543 x 31 =78833 3541 x31=109771
-7+13=6 -23 +45=22 -82+124 =42

Write 567 in Roman Numerals Write 863 in Roman Numerals Write 1640 in Roman

= DLXVII = DCCCLXIII Numerals = MDCXL
2.7x8=21.6 2.7x9=24.3 2.7x12=324

Find 10% of 450ml| = 45ml Find 70% of 450ml| = 315ml Find 31% of 450m| = 139.5ml

7% =49 112 =121 14% = 196



